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Error Spotting Questions - 100 plus Difficulty Wise MCQs with Solutions

Welcome to our blog on Error Spotting questions, an essential topic in English Language that plays a crucial role in all
competitive exams. Approximately 3 - 4 questions are certain to appear from this topic in the exam, making it imperative
for you to grasp the concepts of Error Spotting thoroughly and practice a variety of questions.

In this blog, we will comprehensively cover all the theoretical concepts and rules of this topic. Additionally, we have
included previously asked questions from various competitive exams, to help you get a feel for what to expect. So, let's
dive into the world of Error Spotting and boost your exam preparation.

ERROR SPOTTING

Prachce Queshonsg

[Source: KD Live]

Error Spotting Questions - SSC Easy Level

Direction (Q:1 - Q:10) Identify the segment in the sentence which contains the grammatical error.
Q:1 Saraswati college has maintained its reputation as one of the best college in the country.
1.Saraswati college has maintained

2.its reputation as

3.in the country

4.one of the best college
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Q:2 The boy which stole the money was caught by the police.

1.by the police

2.stole the money

3.The boy which

4.was caught

Q:3 My brother, who live in Delhi, has written me a letter.

1.has written

2.me a letter

3.who live in Delhi

4 My brother

Q:4 Modern man is completely engross in the mad pursuit of material pleasures and luxuries.
1.Modern man is

2.material pleasures and luxuries

3.mad pursuit of

4.completely wholesale

Q:5 While we would like all Indian children to go to school, we need to ponder why they does not.
1.why they does not

2.While we would like

3.Indian children to go to school

4.we need to ponder

Q:6 You are invite to build a better community by planting a seed of peace within and tree outside.
1.build a better community

2.within and a tree outside

3.You are invite to

4.by planting a seed of peace
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Q:7 In India, the various practices and norms from bank’s transactions are laid down by the RBI only.
1.are laid down

2.norms from bank’s transactions

3.the various practices

4.by the RBI only

Q:8 The book provide ample guidance and practice in learning English conversations effectively for all age groups.
1.The book provide

2.for all age groups

3.ample guidance and practice

4.in learning English conversations

Q:9 Taking the help of people with rich experience of life will saves you much time and effort.
1.Taking the help of

2.much time and effort

3.people with rich experience

4.will saves you

Q:10 Just because you are learning a language does not mean you need to limiting your thinking.
1.does not mean

2.need to limiting your thinking

3.Just because

4.you are learning a language

Error Spotting Questions - SSC Moderate Level

Direction (Q:1 - Q:10) Identify the segment in the sentence, which contains the grammatical error.

Q:1 Yet another vulnerability have been found in WhatsApp that can allow attackers to access the sensitive information of
users.

1.found in WhatsApp that
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2.can allow attackers to

3.Yet another vulnerability have been

4 access the sensitive information of users

Q:2 The student being a graduate he is eligible for the post of probationary officer in our bank.
1.graduate he is

2.The student being a

3.of probationary officer in our bank

4 eligible for the post

Q:3 Popular pizza outlet Domino’s India seems to have fall victim to a cyber attack.
1.Domino’s India seems

2.victim to a cyber attack

3.Popular pizza outlet

410 have fall

Q:4 If you're among them who dream of making their mark in the field of space, you're in luck.
1.who dream of making

2.their mark in the field

3.If you're among them

4.0of space, you're in luck

Q:5 Itis a captivating portrayal of the badminton champ’s dedication to became no 1 player.
1.of the badminton

2.to became no 1 player

3.champ’s dedication

4.1t is a captivating portrayal

Q:6 The cricketer is using the widely followed IPL platform to highlight important wildlife and environmental issues, and
their shoes are acting as his canvas.

1.platform to highlight important wildlife and

4
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2.their shoes are acting as his canvas

3.The cricketer is using the widely followed IPL

4.environmental issues, and

Q:7 The police is investigating the murder case which happened last month.
1.The police is

2.investigating the murder

3.case which

4 happened last month

Q:8 The boss is impressed with her ability to generate so good ideas.
1.The boss is impressed

2.with her ability

3.to generate

4.s0 good ideas

Q:9 He sent me twenty invites in the last six months, until | agreed to come.
1.He sent me

2.twenty invites in the

3.last six months,

4.until | agreed to come

Q:10 She was found guilty of obtained money by deception.

1.of obtained

2.She was

3.found guilty

4.money by deception

Error Spotting Questions - SSC Hard Level
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Direction (Q:1 - Q:10) Identify the segment in the sentence which contains the grammatical error.
Q:1 No sooner did | get into the train when it started running fast.

1.1 get into the train

2.when it

3.No sooner did

4 started running fast

Q:2 Undoubtedly, trafficking is a pernicious offence, one that societies and governments must have zero tolerance across.
1.pernicious offence, one that

2.must have zero tolerance across

3.Undoubtedly, trafficking is a

4.societies and governments

Q:3 Afghanistan’s neighbours must help it protected the democratic gains of the last two decades.
1.help it protected

2.of the last two decades

3.Afghanistan’s neighbours must

4.the democratic gains

Q:4 The college library is not only equipped with computers but also with internet access for all.
1.not only equipped with

2.computers but also

3.The college library is

4.with internet access for all.

Q:5 China have used its cyber-security laws to discriminate against foreign companies.

1.to discriminate

2.China have used

3.against foreign companies
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4.its cyber-security laws

Q:6 There is strong evidence that vaccination offers the greater protection against death and hospitalisation.
1.vaccination offers

2.death and hospitalisation

3.There is strong evidence that

4.the greater protection against

Q:7 SC lays up the salutary principle that right to life must override religious sentiments.
1.override religious sentiments

2.SC lays up the

3.right to life must

4. salutary principle that

Q:8 Indian banks that are currently enrolled in the Mastercard network is expected to make alternative arrangements with
other card companies.

1.in the Mastercard network is expected

2.arrangements with other card companies

3.Indian banks that are currently enrolled

4.10 make alternative

Q:9 Foreign tourists always enjoy to watch the flying birds in the Nal Sarovar Bird Sanctuary.
1.to watch the

2.flying birds in the

3.Foreign tourists always enjoy

4 Nal Sarovar Bird Sanctuary

Q:10 If I was in his shoes | would commit suicide with shame.
1.shoes | would

2.with shame

3.commit suicide

7
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4.1f  was in his

Error Spotting Questions - Bank Easy Level

Direction (Q:1 - Q:13): Given below are sentences divided into four parts A, B, C, and D. There may or may not be an
error in one of the parts. There will be five options out of which one will be ‘None of these'. Read the sentence carefully
and spot which part has the error and if no error is found mark the option that indicates ‘None of these’ as your answer.

Q:1 Especially, at this time (A)/ of a nationwide lockdown, (B)/ many in the unorganized sectors (C)/ have a little money to
spare and rely on. (D)

1.D
2.A
3.6
4B
5.None of these

Q:2 Whether stress is because (A)/ of lack of sleep, worries (B)/ fights or any other conflict, (C)/ it create fatigue and has
a tremendous effect on our immunity. (D)

1.C
2.B
3.A
4D
5.None of these

Q:3 Every few seconds, (A)/ new thoughts flash on the screen of (B)/ the human mind that dirsrupt (C)/ your focusing
process. (D)

1.A
2.C
3.D
4B

5.None of these
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Q:4 Ayurveda strongly recommends (A)/ eating a gooseberry (B)/ daily by improving immunity, (C)/ boosting metabolism
and longevity. (D)

1.A
2.B
3.C
4D
5.None of these

Q:5 Itis a far, far better thing that | does(A)/, than | have ever done(B)/; it is a far, far better rest | go(C)/ to than I have ever
known(D).

1.C
2.B
3.A
4.D
5.None of these

Q:6 The Geminids meteor shower peaked overnight, with several spectacular (a)/ sights captured on camera. For
stargazers that missed out, (b)/ fear not, as the celestial fireworks are (c)/ set to continue for few more days (d).

1.a
2b
3.c
4d
5.None of these

Q:7 Deliberate practice does not mean that you can fashion yourself into anything with enough work and effort. (A)/ While
human beings does possess a remarkable ability to develop their skills, (B)/ there are limits to how far any individual can
go. (C)/ Your genes set a boundary around what is possible. (D)

1.C
2D
3.A
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4.B
5.None of these

Q:8 Supports from State Agencies (A)/ District Authorities and citizens have been encouraging (B)/ and are enabling us to
make the difference in these tough circumstances, (C)/ but millions in them need more us (D).

1.A
2.B
3.D
4.C
5.None of these

Q:9 An international team of scientists in Australia made 70 two types of (a)/ diamonds within minutes inside a lab at
normal room temperatures by applying (b)/ high pressures to carbon. The pressure was (c)/ equivalent to 640 African
elephants on the tip of a ballet shoe (d).

1.a
2b
3.c
4d
5.None of these

Q:10 The increasing concentration of people (A)/ in cities becomes a breeding ground for disease (B)/ while their
movement makes it easier (C)/ for diseases to travel across regions (D)/ No Error (E).

1.D

2.A

3.B

4.C

5.None of these

Q:11 When we strive (A)/ to become better than (B)/ we are, everything around us (C)/ become better too (D)/.
1.A

2B

10
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3.C
4.D
5.None of these

Q:12 In times of natural disaster or global epidemics (A)/ like the one we are currently facing (B)/ a common platitude
that is often heard (C)/ is that of these events being a great equalizer (D)/ No Error (E).

G
2.A
3D
4B
5.None of these

Q:13 The Covid-19 pandemic has been (A)/ seemingly uniform in its devastation (B)/ crossing borders around the world
(C)/ in a flash and killing millions in it wake. (D)

1.D
2.A
3.B
4.C
5.None of these

Direction (Q:14 - Q:15): In the following question, multiple sentences have been given. Each sentence has been divided
into a few parts which may or may not carry an error. The error, if any, will be in one part of the sentence. The number
corresponding to that part and the sentence in which it is, will be your answer. If the given sentences carry no error,
mark ‘All are correct’ as your answer. Ignore the errors of punctuation if any.

Q:14 A) Even after having worked in the office(1) for as much as fifteen years. (2) He still does not understand (3)the
basic objectives of the work (4).

B) If | would have realized what (1)a bad shape our library is in. (2) | would have done (3)something to arrest the
deterioration (4).

1.A-1,B-2
2.A-2,B-3
3.A-4,B4
11
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4.A-2, B-1
5.All are correct

Q:15 A) It is difficult to believe that any (1)man can be so spiritually dead as to (2) has no love for his native (3)country
after travelling in foreign lands (4).

B) Acceptance is not about allowing (1)everything to occur or to go on, (2)it is neither related to passivity and
(3)weakness nor is it about confirmation or mediocrity. (4)

1.A-1,B-1

2.A-3,B-3
3.A-4, A-4
4.A-2,B-2

5.All are correct

Error Spotting Questions - Bank Moderate Level

Direction (Q:1 - Q:4): A paragraph/sentence is given below which has been divided into partsi.e. A, B, C, D, E....... Find
out the part that has a grammatical or contextual error(s) in it. If there is no error then mark the option “No Error”.

Q:1 Millions of people wearied by the onslaught of (A)/ the coronavirus have to contend with (B)/ a furious tropical
cyclone that has left a trail of death (C)/ and destruction before making landfall in Gujarat. (D)/ No error (E).

1.A
2.C
3B
4.D
5.No error

Q:2 Now, almost everyone expect a video call, no matter (A)/ how old because it requires some adjustment, (B)/ not so
much because it's unflattering, but because (C)/ the usual rules of communication no longer apply. (D)

1.B
2.C

3.D

12
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4.A
5.No Error

Q:3 Whether wooden, metal, old, new, shipwrecked or fantasy, ships are fun to build in Minecraft. (A)/Although they are
essentially static structures, they are cool and pretty hard to build. (B)/Here are some tips to get you started. To create a
basic ship hull, start on building a line, (C)/draw the ship’s hull from the side then, from above, draw the outline of the ship.
(D)/Once you have these two elements blocked out, just join them together — you can add stairs and halfslabs to smooth
out the curves. (E)

1.B
2.C
3D
4.E
5.No Error

Q:4 When building something real, it is always best to look (A)/ about, take notes and sketch it out on paper first. (B)/ This
will help you figure out dimensions and which blocks you (C)/ might want to use. In Minecraft, one block is about one
meter in real life. (D)

1.B
2L
3.D
4.A
5.No Error

Q:5 Out of the five statements given below, only one is grammatically correct. Choose the correct statement as your
answer.

A. Being a pilot is one of the most demanding professions considering the erratic working hours and the physical
exhaustion that comes after long flights.

B. Air India’s largest employees’ union would hold its general body meeting going Friday to “organize its members for a
movement” against the government'’s decision to privatize the debt-ridden national carrier.

C. An international airport the government announced on Saturday about with a capacity to handle 30-50 million
passengers per year would come up at Jewar in Greater Noida in the next five to six years to ease the load on the Delhi
airport.

13
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D. The government has recommended three levels of unruly behavior, every with a corresponding duration of the flying
ban of 3 months, 6 months and two years or more without limit.

E. Qatar that is home to almost 7 lakh Indians is now facing an air-way crisis following a few middle-eastern countries
banned the use of their airspace for flights to and from Doha for Qatar operators, earlier this month.

1.A
2.B
3.C
4.D
5.E

Direction (Q:6 - Q:14): A paragraph/sentence is given below which has been divided into partsi.e. A, B, C, D, E....... Find
out the part that has a grammatical or contextual error(s) in it. If there is no error then mark the option “No Error”.

Q:6 The United Nations (UN) and several other international organizations celebrate International Mountain Day on
December 11th every year (A)/ Protecting mountain areas is very important, because mountain areas have 15% of the
world’s population (B)/ They also have more than half of the world’s biodiversity hotspots (C)/ The protection of
mountains is also are key part of Sustainable Development Goal 15 (D)/ No Error (E).

1.C
2.D
3.B
4.A
5.No Error

Q:7 China has launched an unmanned spacecraft to bring back lunar rocks, the first attempt (A)/ by any nation to retrieve
samples from the Moon in four decades. Recently China has launched the Long March-5 Y5 rocket, (B)/ carrying the
Chang’e-5 spacecraft from Wenchang Space Launch Center (China). The Chang’e-5 mission, named after the ancient
Chinese goddess of the moon, (C)/ will seek to collect lunar material to help scientists understand more about the moons’
origins and formation (D)/ No Error (E).

1.B
2.C
3.D

4.A

14
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5.No Error

Q:8 Recently Ministry of Environment and Forests (MoEF) issued fresh guidelines to accelerate environment appraisal of
industrial projects (A)/ Environmental appraisals, as far norms, are conducted by independent panels of experts that have
representatives (B)/ from the government as well as from outside, trained in matters of ecology, wildlife and habitat
preservation.The Expert Appraisal Committees (EACs) opine (C)/ on whether a proposed project beyond a certain size
ought to be commissioned and recommend ways to mitigate the potential environmental impact (D)/ No Error (E).

1.A
2.B
3.C
4D
5.No Error

Q:9 5,000 people fleeing away from the city of Goma (A)/ across the nearby border into Rwanda, while (B)/ another
25,000 others sought refuge to the northwest (C)/ in Sake, the UN children’s agency said Sunday. (D)/ No error (E)

1.A
2.B
3.C
4.D
5.No error

Q:10 Another vital reform is to create/(A) a thriving debt market to let long-gestation infrastructure/(B) projects be funded
through bonds /(C) and prevent the future buildup of bad loans. (D)

1.Aand B
2BandD
3.0nlyC
4.0nlyD
5.No Error

Q:11 The committee said the government need to (A)/ stay prepared for all three stages. As of now, they (B)/ have
enough beds, ventilators and healthcare workers to meet the demands required at Stage 1 (C)/. For Stage 2, we have
suggested that two hospitals — Lok Nayak and Super Specialty Hospital — will, by and large, take care of the COVID-19
patients. (D)

15
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1.C
2.A
3B
4.D
5.No error

Q:12 We can only look on with disappointment (A)/ as the thesis of our book plays out in real-time, (B)/ as such fatal
consequences. Our sweeping critique of global governance (C)/ should not lead to the mistaken conclusion that it is a
futile enterprise. (D)

1.A
2.D
3B
4.C
5.No error

Q:13 “While the speed and scale of the outbreak are (A)/ posing countless challenges, we continue employing at effort to
ensure that UNICEF (B)/ supplies reach those in need as quickly as possible,” (C)/ said Etleva Kadilli, UNICEF’s Director of
Supply Division in Copenhagen. (D)

1.B
2.A
.G
4.D
5.No error

Q:14 UNICEF has delivered around US$3 million worth of hospital (A)/ equipment and personal protective equipment to
Hubei Province and other regions in China to (B)/ aid the Government response there to COVID-19. (C)/ Supply included
defibrillators, electrocardiogram monitors, portable ultrasound systems, infusion pumps, N95 masks, gowns goggles,
protective suits and gloves. (D)

1.A
2.B

3.D
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4.C
5.No error.

Q:15 In the following question, two sentences have been given. Each sentence has been divided into few parts which
may or may not carry an error. The error, if any, will be in one part of the sentence. The number corresponding to that
part and the sentence in which it is, will be your answer. If the given sentences carry no error, mark ‘None of these’ as
your answer. Ignore the errors of punctuation if any.

A. Many of this athletes and Olympians believed if they trained hard (1)/and put in their best efforts, (2)/ the world would
remember them for their athletic talents. (3)

B. Little did they know, the world may remember them for just of tiny moment, (1)/ perhaps, unrelated to their
performance. From a tiny warm up routine to a mysterious injury of a teammate, (2)/ these athletes went down in history.
Since those moments, their lives have completely changed. (3) 1

1.A-1, B-1
2.A-3,B-2
3.A-2,A-2
4.A-1,B-2
5.None of these

Direction (Q:16 - Q:20): A paragraph/sentence is given below which has been divided into partsi.e. A,B, C, D, E....... Find
out the part that has a grammatical or contextual error(s) in it. If there is no error then mark the option “No Error”.

Q:16 When volcanos erupt, these geologic monsters produce tremendous clouds (A)/ of ash and dust—plumes that can
blacken (B)/ the sky, shut down air traffic and reached (C)/ heights of roughly 25 miles above Earth’s surface (D).

1.A
2B
3.C
4.D
5.No Error

Q:17 The reopening of Metro services, which have become the lifeline of cities, (A)/ was eagerly awaited as a sign that
the nation was committed to living with the virus. (B)/ But the sight of half-empty carriages, with people sitting so (C)/ far
apart that they could not possibly speak to each other, has been quite sobering (D).

1.A
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2.B
3.C
4.D
5.No Error

Q:18 The five-point framework that emerged out of a “frank and constructive” (A)/ conversation between External Affairs
Minister and his Chinese counterpart (B)/, Wang Yi, on the margins of an international conference in Moscow has (C)/
certainly raised hopes, if tentative, for defusing the extended military crisis in the Ladakh frontier (D).

1.A
2.B
3.C
4.D
5.No Error

Q:19 We must not fall into complacency and take measure (A)/ for not only forestalling Chinese belligerence but (B)/ be
poised for gaining the upper hand in (C)/ case of the extreme eventuality of an armed confrontation (D).

1.A
2.B
3.C
4D
5.No Error

Q:20 The Essential Commodities Act (EC Act) belonged to the age of (A)/ shortages and controls. It has really no place
(B)/ when India is surplus in food grains and has the (C)/ capacity to produce essential goods according to demand (D).

1.A
2.B
3.C
4.D

5.No Error
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Error Spotting Questions - Bank Hard Level

Q:1 A paragraph is given below which has been divided into five parts i.e. A, B, C, D, and E. Part ‘A’ of the paragraph has
no error. Find out the part that has a grammatical or contextual error(s) in it. If there is no error, then mark the option
“No Error”.

Water is our most precious resource and we can't live without it. There’s no substitute for it. (A)/Moreover, there’s only so
much of it to go round. Of all the water on Earth, just 2.5% is freshwater, and most of that is locked up in ice or deep
underground. (B)/Rivers and lakes hold only a tiny fraction — but it's this water that farming, industry, seven billion human
beings and all life on land depend on. (C)/And freshwater environments is home to around 1 in 10 known animals - from
dragonflies to ducks to dolphins, and around half of all fish species. (D)/We're striving to protect and revive the rivers and
wetlands that sustain people and nature, and ensure there’s enough water for all of us. (E)

1.B
2.C
3D
4.E
5.No Error

Q:2 In the given question, a sentence is divided into five parts (A,B,C,D and E), out of which the last part is correct. Out
of the remaining four, there are errors in three parts. Choose the part which doesn’t have an error. If all the four parts are
correct, mark (E) i.e. ‘All are correct’ as the answer. The issue must linger on (A)/ and be periodically revived, (B)/ if not at
a government level, (C)/ than certainly in the media till the end of 2021.(D)/ All are correct (E)/

1.A
2.B
3.C
4.D
5.All are correct

Q:3 In the following question, three sentences have been given and some sentences are grammatically incorrect or
inappropriate. The error, if any, will be in one or more than one sentences. Find out the error in the sentence(s) and
select the option that indicates the grammatically incorrect and inappropriate sentence(s). If the given sentences carry
no error, mark ‘All are correct’ as your answer. Ignore the errors of punctuation if any.
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A) When he returned to the dining-room the guests left and the servants were clearing the tables.

B) The Great Barrier Reef is an site of remarkable variety and beauty on the north-east coast of Australia.
C) On the eleventh hour, she retired from the contest, leaving the field open to her opponent.

1.AandC

2.Band A

3.A, Band

C4.0nly B

5.All are correct

Q:4 Read the sentence to find out whether there is an error in it. The error, if any, will be in one part of the sentence. The
number corresponding to that part will be your answer. If the given sentence is correct as it is, mark the answer as ‘No
error’. Ignore the errors of punctuation, if any. In a decision that will be quite palatable to mainstream parties, (A)/ the
Court has not only found merit in the Maratha claim (B)/ to backwardness but also the community is (C)/ adequately
represented in public services. (D)/ No error (E)

1.A
2.B
3.C
4.D
5.No error

Direction (Q:5 - Q:6): A sentence, divided into three parts (I, Il and Ill), is given. There may be an error in one or more
parts. Determine the part(s) which require correction and mark it as your answer.

Q:5 Katy jolted along her reverie at the pastor's words and to hide her blush, (I)/ she took out her fan to try to cover for her
face from the heat, but when she swished it back and forth, (Il)/ the skunk scent wafted over and up into the pastor’s
perfect nose. (ll1)

1.0nly |
2.Both land Il
3.Both land Il
4.0nly 1l

5.Both Il and Il
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Q:6 According to the Constitution of India,(l)/ the right to the equality is one of the most important (II)/ fundamental rights
of an Indian citizen. (lIl)

1.0nly |

2.0nly Il
3.Bothland Il
4.Both I and IlI
5.Both Il and IlI

Q:7 Read the sentence to find out whether there is an error in it. The error, if any, will be in one part of the sentence. The
alphabet corresponding to that part will be your answer. If the given sentence is correct as it is, mark the alternative that
indicates ‘No error’ as your answer. Ignore the errors of punctuation, if any.

Parliament have passed the Rashtriya Raksha University Bill 2020. (A)/ The Bill establishes the Raksha Shakti University,
Gujarat as a University called the Rashtriya Raksha University in Gujarat. (B)/ The Bill declares the University as an
institution of national importance. Speaking on the Bill, (C)/ Minister of State for Home Affairs, G. Kishan Reddy said that
strengthening the police training system is the vision of Prime Minister Narendra Modi. (D)

1.C
2.D
3.A
4B
5.No Error

Direction (Q:8 - Q:9): Each question consists of four sentences and some sentences are grammatically incorrect or
inappropriate. Read each sentence to find out the error in the sentence(s) and select the option that indicates the
grammatically incorrect and inappropriate sentence(s). Ignore the errors of punctuation, if any.

Q:8 A. There have been a growing convergence of interests in maritime cooperation.
B. Like India, France has expressed concern about China’s growing presence over the Indian Ocean Region.

C. French overseas territories in the Indian and the Pacific Oceans provide it with the second larger exclusive economic
zone globally.

D. It has long maintained bases in Reunion Islands and Djibouti and established once in Abu Dhabi in 2009. This regional
dimension is reflected in the Vision Statement on cooperation in the Indian Ocean Region.

1.A,Band C
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2.0nly A

3.Band D

4.0nly C

5.All are incorrect

Q:9 A. Any talk of a demographic dividend is meaningless when one half of the population is just not participating in the
economy. The reasons are many.

B. First, India is a deeply feudal, parochial and sexist society. Deep down, most Indians subscribe for the stereotype that a
man'’s place is in the workplace, the woman'’s at home.

C. For many Indian men, it is a matter of shame to see women in their families go out to work.

D. Other than the perceived stigma of not being able to provide for their womenfolk, there may even be a subliminal fear
that financially independent women could challenge their assumed superiority and dominance in the household.

1.Aand B

2.0nly B
3.BandD
4B,CandD

5.All are incorrect

Direction (Q:10 - Q:11): In the following question, multiple sentences have been given. Each sentence has been divided
into a few parts which may or may not carry an error. The error, if any, will be in one part of the sentence. The number
corresponding to that part and the sentence in which it is will be your answer. If the given sentences carry no error, mark
‘All are correct’ as your answer. Ignore the errors of punctuation if any.

Q:10 A) Although the Sikhs are a (1)/ regional community in India, but by (2)/ availing of modern opportunities they have
extended their enterprises (3)/ all over the country. (4)

B) Many American politicians (1)/ have been blaming the (2)/ continuous lose of American Jobs on globalisation (3)/ by
digital technology. (4)

C) The beauty of the palace comes alive (1)/ when over a lakh of bulbs (2)/ are switched on between 7pm and 7:45 pm
(3)/ on specific days. (4)

1T.A-2&B-3
2C-2&B-3
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3.A-4&B-4
4B-2&C-3
5A-1&C-1

Q:11 A) We all remember tales of how (1)/ our grandparents’ generation crossed rivers, walked long distances(2)/ and
braved unsafe paths to reach schools. Sadly, a diconcertingly large number of children of this generation (3)/ also faces
the same grim reality. (4)

B) The CBI court sentenced four people, including a government servant, to (1)/ four- and-a-half years’ improvement (2)/
for illegally procuring contracts from Delhi Jal Board (3)/ causing a huge loss to the exchange. (4)

C) The growing cooperation between India and UK (1)/ has been manifested (2)/ in all walks of life,(3)/ be it history,
politics, culture or language. (4)

1.A-4&B-4
2A-1&C-2
3.A-4&C-1
4B-2&A-3
5B-3&C-3

Q:12 In the given question, a sentence is divided into five parts (A,B,C,D and E), out of which the last part is correct. Out
of the remaining four, there are errors in three parts. Choose the part which doesn't have an error. If all the four parts are
correct, mark (E) i.e. ‘All are correct’ as the answer.

A fewer highlighted aspect (A) in global warming is that (B) it may link desperate disasters (C) — floods, pandemics and
pestilence (D)— amplifying the potency of each. (E)

1.A
2.B
3.C
4.D
5.All are correct

Direction (Q:13 - Q:16): In the following question, multiple sentences have been given. Each sentence has been divided
into a few parts which may or may not carry an error. The error, if any, will be in one part of the sentence. The number
corresponding to that part and the sentence in which it is will 74 be your answer. If the given sentences carry no error,
mark ‘All are correct’ as your answer. Ignore the errors of punctuation if any.
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Q:13 A) Despite recent achievements, (1)/ Brazil still needs (2)/ to overcome challenges (3)/ to improve its innovation
system. (4)

B) Despite persistent requests (1)/ from government officials (2)/ and research institutions, China has not provided (3)/
samples of the danger virus. (4)

C) Embattled Australian Prime Minister, (1)/ Malcolm Turnbull said (2)/ he will soon call a meeting to determined the
leadership (3)/ of the ruling Liberal party. (4)

1.A-4&B-4
2.B-4&C-3
3.C-3&A-2

4A-18&B-2
5A-2&C-2

Q:14 A) Citizen action and litigation has (1)/ forced the project proponents and (2)/ the Ministry of Urban Development to
(3)/ state that they will revise their plans. (4)

B) Much people who ride the free, (1)/ app-based shuttle known as (2)/ the Downtanger are getting (3)/ a shock this
month when their drivers pulls up. (4)

C)Despite close diplomatic exchanges (1)/ key defence agreements have (2)/ not yet been completed.(3)
1.A-48&B-4

2C-1&A-4

3.A-2&C-3

4A-3&B-2

5A-1

Q:15 A) The increased target for agricultural (1)/ credit will empower farmers with much-needed (2)/ funds to procure
agricultural (3)/ inputs in a timely manner. (4)

B) The bigger challenge lies ahead when (1)/the contours of the draft assumes a more firmer shape, (2)/ and there is a
clearer sense of the numbers that (3)/ do not make it to the Draft Consolidated List. (4)

C) Peace on the border is (1)/ difficult to achieve at (2)/ the tactic level (3)/ by military leaders.(4)

T.A-4&C-1
2B-2&C-2
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3A-1&C-1
4B-2
5B-3

Q:16 A) China’s plan to divert water from the Brahmaputra in Tibet (1)/ to the “parched Xinjiang region” in (2)/ China by
building a 1,000-km-long tunnel, (3)/ the world’s longest one, will proved to be an environmental disaster. (4)

B) With wealth reaped from corruption, (1)/more than enough money to engaged (2)/ the best lawyers and sail smoothly
(3)/all the way from the lower courts to the Supreme Court. (4)

C) Perhaps one of the most talked about (1)/issues as far as the Northeast is concerned (2)/ is the Naga struggle for
sovereignty (3)/ which started a day before India’s independence. (4)

1.B-4&C-2
2.A-1&B-1

3.A-4&B-2
4C-4&A-4
5A-4&B-3

Direction (Q:17 - Q:18): Read each sentence to find out whether there is any grammatical/contexual error in it. Mark the
alphabet if there is any error and if there is no error then mark 5th option i.e. “No Error”.

Q:17 Why people think that climate change is a myth is easy to explain (A)/ A basic lesson in geography in elementary
schools across the world concerns the distinction between ‘climate’ and ‘weather’ (B)/ The two concepts are typically
explained as been different in terms of changeability (C)/ Weather changes from day to day and season to season,
according to standard geography texts (D)/ No Error (E).

1.B
2.C
3.A
4.D
5.No Error

Q:18 Recently a Hindu temple, believed to have been constructed 1,300 years, has been discovered by Pakistani (A)/ and
Italian archaeological experts. The discovery was made during an excavation (B)/ at Barikot Ghundai, a mountain in
northwest Pakistan’s Swat district (C)/ The temple discovered is of Lord Vishnu, which was built by the Hindus during the
Hindu Shahi period (D)/ No Error (E).
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1.C
2.D
3.A
4.B
5.No Error

Direction (Q:19 - Q:20): Four statements are given below at 1, 2, 3, and 4. There may be some errors in the given
statements. Mark the incorrect statement as the answer. If all the statements are incorrect, mark E, i.e. ‘All are
incorrect’ as the answer.

Q:19 1.Since 2015-16, the government has been procuring larger quantities of pulses through National Agricultural
Cooperative Marketing Federation of India (NAFED) and the Small Farmers’ Agri-business Consortium (SFAC) for
maintaining a buffer stock of 2 million tonnes.

2.Cotton is procured by the Cotton Corporation of India, while groundnut is procured in some states like Gujarat.

3.Some horticultural products are also procured in a sporadic manner, e.g., apples in J&K in 2019-20 and onion in
Maharashtra almost every year.

4.Sugarcane is not procured by the government but its farmers are assured of Fair and Remunerative Price (FRP) paid by
sugar mills. In some states, the government declares State Advised Price which is higher than the FRP. 5.All are incorrect

Q:20 1.Anger against the three central farm legislation has been simmering since September. For the last three days,
thousands of farmers from Punjab, Haryana, Rajasthan, and Uttar Pradesh have been marching toward the national
capital and are nearing the borders.

2.After failing to garner support from their respective state governments, the farmers have decided to mount pressure in
the Union government, due to which they are coming to Delhi.

3.While governments in UP and Haryana have failed to convince farmers, governments of Rajasthan and Punjab have
extended full support to their agitation.

4 Farmers want the Union government to either withdraw the three legislations or guarantee them the minimum support
price(MSP) for their crops by introducing a new law.

5.All are incorrect

Solutions - SSC Easy Level Error Spotting Questions

Q:1 (4) “One of + plural noun” is the correct noun phrase. According to the above phrase we need to use “colleges” at the
place of “college”.

26

FOROW US O Address : 1997, Mukherjee Nagar, 110009 Download the App

Email : online@kdcampus.org GET ITON
f « |
— Call : +91 95551 08888 o Google Play


https://study.kdcampus.live/english-language/error-spotting-questions-100-plus-difficulty-wise-mcqs-with-solutions

STUDY CONTENTS THAT GET YOU SELECTED FHEE

N
L’ VE @ 5LAKH+STUDENTS ., 30+ EXPERT INSTRUCTORS 10000+ HOURS OF VIDEOS
Already enrolled with our "‘ Our instructors are the best -‘ All videos are well-explained for you P D F

selection focused courses. In the industry to get every bit out of the videos

Error Spotting Questions - 100 plus Difficulty Wise MCQs with Solutions

Q:2 (3) If the antecedent of a relative pronoun is “person” we need to use “who” as the relative pronoun. As in the given
statement, there is the use of “which” we need to replace it with “who”

Q:3 (3) In the case of a relative pronoun, we need to use the verb according to the antecedent used before it. In the given
statement antecedent is “Brother” which is singular hence, we need to use a singular verb here.

Q:4 (4) An adverb is followed by the adjective “adverb + adjective”. In the given statement “completely” is an adverb
hence, we need to write “Engross” in adjective form.

Q:5 (1) The subject of the given statement is “They” which is plural hence, we need to use a plural verb ‘Do”".

Q:6 (3) “You” does not act as an active doer hence, we need to keep the statement in passive voice. Hence, “Be + past
participle” form of the verb will be the correct choice. We need to replace “Invite” with “Invited” for making the statement
grammatically correct.

Q:7 (2) We need to replace “Bank’s” with “The bank’s” for making the statement grammatically correct. The definite article
“The” is used before singular and plural nouns when the noun is specific or particular.

Q:8 (1) We need to replace “Provide” with “Provides” for making the statement grammatically correct. The subject of the
given statement is “Book” which is singular hence, we need to use a singular verb here.

Q:9 (4) We need to replace “Saves” with “Save” for making the statement grammatically correct. “Modal verb + v1” is the
correct verb phrase.

Q:10 (2) We need to replace “Limiting” with “Limit” for making the statement grammatically correct. “To + v1” is the
correct infinitive phrase.

Solutions - SSC Moderate Level Error Spotting
Questions

Q:1 (3) We need to replace “Have” with “Has”. The subject of the given statement is “Vulnerability” which is singular
hence, we need to use a singular verb here.

Q:2 (1) If a noun (the student) is itself in the given statement we don't need to use a pronoun (He) for it.

Q:3 (4) “Have/Has" is followed by the “Past Participle” form of the verb. The past participle form of the verb “Fall” is
“Fallen” hence, it will be correct.

Q:4 (3) “Who" is used for the subjective case of a noun/ pronoun. “Them” is an objective case hence, we need to replace it
with “Those” that is used to refer to a houn.

Q:5 (2) “Infinitive” is the use of “To + v1” in a statement after using the main verb. “Became” is the v2 form of the verb
hence, we need to change it into the first form of the verb “V1”.
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Q:6 (2) A pronoun is used according to the number and case of the Noun. In the given statement, Noun is “Cricketer” that
is singular hence, we need to use “His" at the place of “Their".

Q:7 (1) Police generally agrees with a plural verb. Hence, ‘The police are investigating’ should be used here.

Q:8 (4) In part 4, the phrase ‘so good ideas’ must be replaced with ‘such good ideas’ to make the sentence a
grammatically correct one. ‘So’ is used to express emphasis before an adjective.

Q:9 (1) Past indefinite & Past perfect tense are both used to talk about things that happened in the past. However, we use
past perfect to talk about something that happened before another action in the past, which is usually expressed by the
past simple.

Q:10 (1) The error lies in option 1 because of the wrong use of “Form of the verb”. A preposition is always followed by the
present participle form of the verb. We need to replace “Obtained” with “Obtaining” for making the statement
grammatically correct.

Solutions - SSC Hard Level Error Spotting Questions

Q:1 (2) “No sooner than” is the correct pair of the conjunction that always occurs together.
Q:2 (2) The statement is showing the purpose of having “Zero tolerance” hence, “For” will be the correct preposition here.

Q:3 (1) Help is followed by the bare infinitive. Hence, we need to use “V1” after “help” i.e. We need to replace “Protected”
with “Protect”.

Q:4 (1) “Not only - but also” is followed by the same parts of speech. There are two “with” in the given statement, we need
to keep both after “Not only and But also” respectively to maintain the sequence of the statement.

Q:5 (2) We need to replace “Have” with “Has” for making the statement grammatically correct. The subject of the given
statement is “China” which is singular hence, we need to use a singular verb here.

Q:6 (4) Article “the” is used before the superlative degree of the adjective. Hence, we need to use superlative degree
“Greatest” here.

Q:7 (2) “lays up” means “put a ship or boat in dock or out of commission” while “Lays down” means “formulate and
enforce or insist on a rule or principle”. The given statement talks about the importance of law hence, “Lays down” will be
the correct choice here.

Q:8 (1) 1. We need to replace “Is” with “Are” for making the statement grammatically correct. The subject of the given
verb is “Banks” which is plural hence, we need to use a plural verb here.

Q:9 (1) 1. We need to replace “To watch” with “Watching” for making the statement grammatically correct. “Enjoy” is
followed by the “Present Participle” form of the verb.
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Q:10 (4) We need to replace “Was” with “Were” for making the statement grammatically correct. If the verb in the if-clause
is “to be” use “were,” even if the subject of the clause is a third-person singular subject (i.e., he, she, it).

Solutions - Bank Easy Level Error Spotting Questions

Q:1 (1) When we say ‘a little’, we mean a small amount, but it's enough whereas ‘little’ also means a small amount, but the
amount is almost nothing. So in place of ‘a little’ it should be ‘little’ to make the sentence grammatically and contextually
correct.

Q:2 (4) In D, ‘I’ is a third-person singular personal pronoun which is referred to the stress in the given sentence. Since, it is
singular subject, hence the verb should also be singular. Therefore, ‘create’ should be changed to ‘creates’ to make the
sentence grammatically correct.

Q:3 (5) The given sentence is error-free because a sentence is defined by the use of independent and dependent clauses,
conjunction, and subordinates.

Q:4 (3) The error is in part C of the sentence due to wrong use of preposition. The preposition “by” should be replaced
with “for” to make the sentence correct.

Q:5 (3) 'Iis always followed by a verb in its basic form. Therefore, ‘do’ must be written.

Q:6 (4) The fourth part of this sentence contains an error with the quantifier ‘few’. ‘Few’ is a quantifier used with plural
countable nouns and ‘a few’ means some. The number of meteor showers is countable, so the correct choice will be ‘a

’

few’.

Q:7 (4) The word “does” is wrong here instead it should be “do” as the statement is talking about human beings which is
plural and therefore it should be “do” and not “does”.

Q:8 (3) The statement “D” seems to have an error in it. There is an error with the word “us”, the preposition ‘of’ must be
used before ‘us’. The preposition ‘of' is always used for belonging to, relating to, or connected with terms.

Q:9 (3) Part ‘c’ of the given sentence contains an error with the incorrect usage of preposition. The preposition ‘10’ needs
to be replaced with ‘on’ because high pressure is applied on the carbon.

Q:10 (3) Statement “B” seems to have an error with the application of the singular form of “Disease” since the statement
is depicting diseases in large no.

Q:11 (4) As everything refers to singular, then the BECOME will be Becomes.

Q:12 (2) Statement “A” seems to have an error in it with the application of “Disaster”. The statement depicts Global
epidemics so it must be stating about natural disasters in plural form.

Q:13 (1) Statement “D” seems to have an error in it with “It” in here. It must be “Its” since it is stating about the millions
“wake”.
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Q:14 (4) The first sentence contains an error in the second part with the incorrect usage of adjective i.e. ‘much’. The
correct adjective is ‘many’. The second sentence contains an error of helping verb in the first part with the word ‘would
have’ as it does not suit the sentence context. The correct helping verb is ‘had’ because sentence seems to be in past
tense.

Q:15 (2) The first sentence contains an error in the third part with the incorrect usage of the helping verb i.e. ‘has’ as the
organization mentioned in the sentence is a plural form. So, the helping verb has to be in plural formi.e. ‘have’. The
second sentence contains an error of ‘it is’ as the given sentence is not in question sentence. So, it must be ‘is it

Solutions - Bank Moderate Level Error Spotting
Questions

Q:1 (3) The use of ‘have to’ in part B indicates that the tropical cyclone is yet to come. But by reading part C, we can
understand that people have already experienced the cyclone that has caused death and destruction. So, ‘have had to’
should be used to indicate that the incident has already occurred.

Q:2 (4) Sentence ‘A’ seems to have an error of singular-plural agreement. In the line: “Now, almost everyone expect a video
call.” The correct word should be ‘expects’ instead of ‘expect’.

Q:3 (2) Parts ‘B’, ‘D’ and ‘E’ seem to be contextually and grammatically correct, but part ‘C’ does not seem to be coherent
because of the preposition ‘on’ in the line. The actual preposition that suits there is ‘by’.

Q:4 (5) The entire paragraph seems to be grammatically correct and contextually coherent.

Q:5 (1) The meeting is yet to be held, so we should use ‘will'. So, sentence B is wrong. Also, ‘going Friday’ is wrong here.
The usage of ‘about’ and ‘with’ is incorrect in sentence C. D talks about individuals who display unruly behavior; in such
cases ‘each’ should be used. ‘That’ is used to add a descriptive clause. ‘Which is home to close to 7 lakh Indians’ should
be used in E. The only correct sentence is Sentence A.

Q:6 (2) Statement “D” seems to have an error in it with the application of “The protection of mountains is also are key
part”, which should be “the protection of mountains in also a key part” as it states about one particular act.

Q:7 (3) Statement “D” seems to have an error with the application of “moons” which should be “moon’s” instead. We use
“apostrophe” as a punctuation mark () used to indicate either possession.

Q:8 (2) Statement “B” seems to have an error with the application of “as far” which should be “as per”.

Q:9 (1) In the given sentence the error lies in part A. The verb ‘flee’ itself means ‘run away from a place or situation of
danger. So, the use of ‘away’ together with ‘flee’ becomes redundant.

Q:10 (5) The given sentence does not have any grammatical or contextual errors.
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Q:11 (2) Part “A” in the given passage seems to be grammatically wrong as in the sentence the subject i.e. “the
government” and the verb “need” are not in agreement with each other so, the error lies in here and by replacing it with
“needs” in the sentence will make more grammatical sense out of it.

Q:12 (4) Part “C" seems to be making a grammatical mistake. So an error lies in this part as instead of “as”, the
preposition “with” will stand the best here as it is used to mean ‘having’ or ‘possessing’.

Q:13 (1) Part “B” seems to have a grammatical error in it as after drawing an inference out of the entire statement it can
be stated that there is a need of replacing ‘at’ with the word “every” in the sentence as it revolves around “giving every
effort”.

Q:14 (3) The “supply”(as mentioned in the statement) included more than one thing (indicating a plural form) which
makes it a plural noun so this needs to be replaced with “supplies” which is its plural noun so as to make a correct
grammatical sense out of it.

Q:15 (1) Error in sentence A: The first sentence contains an error in the first part with an incorrect usage of the
determiner ‘this’ as the suitable determiner is ‘these’ because the noun is in plural form.

Error in sentence B: The second sentence also contains an error in the first part as the preposition ‘of’ should be replaced
with article ‘a’. The phrase ‘a tiny moment’ means ‘for a very short period of time’.

Q:16 (3) Part C contains an error in the usage of the verb. The verb ‘reached’ is not appropriate as the sentence is in the
present tense. The correct form of the verb which should be used in the sentence is ‘reach’.

Q:17 (5) The given sentence is grammatically as well as contextually correct.

Q:18 (4) The preposition “in” is irrelevant according to the context of the sentence. The suitable preposition is ‘on’ as it is
used to show the place of something.

Q:19 (1) Part ‘A’ contains an error of subject-verb agreement. The word ‘measure’ has been used in its singular form but
the sentence demands it to be used in plural i.e. ‘measures’.

Q:20 (5) The given sentence is grammatically as well as contextually correct.

Solutions - Bank Hard Level Error Spotting Questions

Q:1 (3) Sentences ‘B’, ‘C" and ‘E’ do not contain any grammatical or contextual error. But, sentence ‘D’ appears to have a
grammatical error (Singular-Plural agreement) as the word “is” in the sentence looks inappropriate. The word that should
be used instead of ‘is’ is “are”.

Q:2 (2) The error in part A is with the usage of ‘must’. It should be replaced with ‘would’. In part C definite article ‘the’ must
replace indefinite article ‘@’. In part D usage of ‘than’ is erroneous. It should be replaced with ‘then’. As part B does not
contain any error, the chosen option will be correct.
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Q:3 (3) The error lies in all the three sentences.

Sentence A - We need to replace “Left” with “Had left” for making the statement grammatically correct.
Sentence B - We need to replace “An” with “A” for making the statement grammatically correct.
Sentence C -We need to replace “On” with “At” for making the statement grammatically correct.

Q:4 (3) When using ‘not only....but also’ in a sentence, parallelism should be followed. In the given sentence, we have
used the verb ‘found’ after ‘not only’. So, the most suitable verb to be used after ‘but also’ is ‘said’.

Q:5 (2)In part I: ‘jolted along her reverie’' makes no sense. It should be replaced with ‘jolted out of her reverie'.

In part Il: The use of the phrasal verb ‘cover for’ which means to provide an excuse or alibi is incorrect. It needs to be
replaced with simply ‘cover’ or ‘cover-up’ implying an attempt to hide.

Q:6 (2) The error in part Il of the sentence is that the abstract noun ‘equality’ is not a qualified noun and so, it should not
take an article like ‘the’.

nou

Q:7 (3) Part “A” seems to have an error in it with the application of “have”. “Have” is used with the pronouns I, you, we, and
they, while “has” is used with he, she, and it. So, it should be “has” in here because the parliament is a singular noun.

Q:8 (5) In sentence A, the noun that follows is singular, therefore the singular form ‘has been’ should be used.
In sentence B, the preposition ‘over’ should be replaced by ‘in’ as it is used to locate a location.

In sentence C, the superlative degree of large i.e. ‘largest’ should be used .

In sentence D, the word ‘once’ should be replaced by ‘one’. As we can see, all the statements have an error.

Q:9 (2) The use of the preposition ‘for’ is contextually incorrect in this statement. Here, the sentence is talking about
thinking of the Indians regarding the position of man and woman. So, in the given sentence, ‘to’ must be used.

Q:10 (1) In sentence A, remove ‘but’ as the sentence has already used the conjunction ‘although; which is used to show
contradiction, so the use of ‘but’ is redundant.

In sentence B, replace ‘lose’ with ‘loss’ as the former is a verb and the latter is a noun. Here we need a noun here to be
modified by the adjective ‘continuous’.

Q:11 (3) In sentence A, a singular or plural verb with nouns is used according to the sense which they convey. So, we have
1o use ‘face’ instead of ‘faces’ to make it a grammatically correct sentence. In sentence C, place ‘the’ before ‘UK’. We place
the definite article ‘the’ before proper nouns when they refer to the nhames of descriptive names of countries such as the
USA, the UAE, etc.

Q:12 (4) The error in part A is the use of the word ‘fewer’ whichshould be replaced by ‘less’. In part B, the preposition ‘in’
must be replaced by the preposition ‘of’. In part C the error is the erroneous use of the word ‘desperate’. It should be
replaced by ‘disparate’.
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Q:13 (3) In sentence B, replace the noun ‘danger’ with the adjective ‘dangerous’ as it is modifying the noun ‘virus'.

In sentence C, replace ‘determined’ with ‘determine’ as the infinitive construction. To+verb always take the base form of
the verb.

Q:14 (5) In sentence A, replace ‘much’ with ‘many’ as the noun ‘people’ is countable and it can be modified by ‘many’.
‘Much'’ is only used to modify uncountable nouns.

Q:15 (4) In sentence B, the sentence has an error with respect to the degree of adjective. Adjective ‘firm’ already uses its
comparative degree i.e., ‘firmer’, thus use of ‘more’ before firmer is incorrect.

Q:16 (3) In sentence A, replaced ‘proved’ with ‘prove’ as the modal verb will always take the base form of the main verb
following it. In sentence B, replace ‘engaged’ with ‘engage’, as the infinitive construction "to + verb" always takes the base
form of the verb.

Q:17 (2) Statement “C” seems to have an error with the application of “been” in here. It should be “being” instead.
Q:18 (3) Seems to have an error with the absence of “ago” word there. Hence, an error lies in Option 3, i.e. A.

Q:19 (1) Correct the emboldened part of the statement by putting the correct article ‘The’ before the nation. All other
fragments are correct in all aspects.

Q:20 (2) Correct the emboldened part of the statement by changing the preposition from ‘in’ to ‘on’ to make the sentence
grammatically correct as the farmers have decided to put pressure on the central government.

This article has provided you with a valuable resource for honing your grasp over the Error Spotting chapter. You have now
practiced a carefully categorized collection of practice questions, ranging from easy to moderate to hard difficulty levels.
The categorization of questions by difficulty enables strategic preparation, offering you a chance to build a strong
foundation and gradually progress towards more challenging problems.

We invite you to share your thoughts and any doubts you may have in the comment section below. Additionally, we
encourage you to share your marks scored in the practice questions, as this can be a great way to gauge your progress
and learn from your peers. Be assured that is committed to providing more such blogs, complete with study
materials and comprehensive coverage of practice questions from every chapter of the English Language and Grammar
section. Your success is our goal, and we wish you the very best in your upcoming exams!
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